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According to thermodynamics, the maximum work that can be derived from a chemical
reactions is equal to the ——— for the reaction

(A) AH (B) AE

w’ AG M) AT

Qeutu Qusseilweler sapmiuuy Caudalmanie oL s@h dstugwrer Couma eflaenulen
5@ FLOWIGD

A AH B) AE

C© AG (D) AT

According to Ostwald's dilution law the equilibrium constant K, is called

Electrode potential

W Ionization constant

(C) Concentration

(D)  Association constant

Spaveureligar Bissd efufar Lig soblene wrdledl K, ereug
(A)  Her 2i(pSsID
B)  wellureuder wrhled

(C) Qspley
(D) Gsiiy wrdled

The relationship between emf of the cell and pH of the solution is
W E=E +0.0591pH (B) E°=E+0.0591pH
(C) E=FE-0.0591pH (D) E°+E=0.0591pH

WensasHear emf @b smraadear pH &@ib o erer Qg
(A) E=E +0.0591 pH B) E =E+0.0591pH

© E=E-00591pH D) E +E=00591pH
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4. 2BN+__2? — B,0, +2NH,.

@’ 38H,0 (B) 30,
(C©) 83H, (D) 3N,0
2 BN + ? — B,0, +2NH,.
A) 3H,0 (B) 30,
(©) 3H, (D) 3N,0
5. Which gas is obey the ideal gas equation?
W co (B) H,
©) N, (D) CO,
GTh UM BEESILIEIL] GuTLF FDETUT I DG SL_AUUBD?
@A)  CO (B) H,
€ N, (D) CO,
6. In stock Pohland’s method, NH; and diborane are taken in the ratio.
(NH, : Diborane)
\a( 2:1 B) 1:2
C 2:3 (D) 3:2

evLé GurGeen panmudled, HbCureaflwmeayn e CurCrayw erHésLLHD g,

' (cgiLb(BLorrsuﬂu.lrr;enL(EurrGrjehj
A) 2:1
(C}y 2:3

FACHE
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The retention time in chromatography is

(A)  the time for mobile phase to move out from the stationary phase
(B)  the time required to prepare the column

(C)  the time required to evaporate the eluent

\V the time required for an analyte to move out of the column

&CrrGum_Gur AgmA apanule By sdmiy st Ry eemig

A)  mpemd Haw Hoawrear Hlaauldadmpg Geuaflia aumeugpstar Crib
(B) Pevewra Qurmamer 2 (Heurss o7 (816 daner Cpyd

(C) eargruen . béa@measnE odosis darar Gy -

M) GfssiuL Geauemgw Qurmear Baowurea Hoauld Qmbs Qe ar a@sgé Qamamm
GCrrd

Which of the following is added to polystyrene sulphonic acid to promote the ion exchange

behaviour? _
(A) Toluene (B) Phenolphthalein
W Vinyl benzene (D) Benzene

cswefl wrppsefld urdl e e saCurells obosHar QUDIALG  GeoRsmar  WTDHD
SpaarLeubmier erg Lwer(Ems)

(A) Gh_ngg;uﬁaiﬂ (B) JSemmé@useder

©)  AmandAuenser | D) Quénfan

Which of the following is a size exclusion chromatographic technique?
(A) GLC - (B) GSC |
(C). HPLC W GPC

Sipsa_cudmIET 6Tl (B LipLoen B8 GGGl CLrélymd (SEC)?
@A) GLC ' B) GSC
(C) HPLC : (D) GPC
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10. 290 ml of a gas at 17°C is cooled to —13°C at constant pressure. The new volume of the gas

© will be _
W 260 ml (B) 270 ml
(©) 280 ml | (D) 290 ml

17°C —a 290 1816l euruy —13°C -&@ wrmm Si&s586 Gellys Qewigne ydw eumuellen sar siare,

(A) 260 195 (B) 270 e
(C) 280 18a (D) 290 18ad)
11.  The ideal gas equation derive from

' W Boye’s law, Charles law, Avogadro’s law
(B)  Boye’s law, Dalton’s law, Avogadro’s law
(C) Boye's law, Charles law, Daltor’s law

(D) Charles law, Dalton’s law, Avogadro’s law

pevedlw eumuyd swerun(h) Epdaeimeubilelhhg QDL L)
A)  um@elen efld), sriaa 694, DuGsTL g 64

(B)  umdeler efld), Lmeo_ei 64, iuGsrigr e9d

€)  umledar e, srraen 694, LmdLar 6dld),

(D)  srieen e, LrdLar e, SeuCsarnm a9d)

12. . One mole of gas at STP occupies the volume
(A)  2.24 liters (B) 224 liters
W7 22.4liters | D) 0.0224 liters

STP-é g Guomed sumyy &ndlé@b sar ey
(A) 224 Aii B) 224 & Lit
© 2246 ' (D) 0.0224 &S\t

FACHE 6 =]



13.

14.

15.

The number of atoms per unit cell in a simple cubic, fcc and bec are

(A)

1,24 B 421

\59{ 1, 4,2 D) 24,1

araflw sem, fee, bee @@ dal g 2 6er signdaafler ereament&ms

(A)
(©)

1,2,4 ; B) 4,21

1, 4,2 (D) 2,41

LiF is an example of

(A)
©

LiF
(A).
(©)

Molecular crystal W Ionic crystal
Covalent crystal (D) Metallic crystal

& 2_GTIERTONS SOEDS).
fpe&ET) Lig&Ld | (B) sweill ugsd

saL1SamenT i Uig&id (D) 2 CGamsts Lgsid

Bragg’s equation nT =2dsiné@ n represents

A)
(B)
©)

the number of moles
the Avagadro’s number

the principal quantum number

@( the order of reflection

Qs swenun’ e nT =2dsiné n erenug)

(A)
(B)
(C)
@)

Cureseaflar cramanfléans
2|euGETLJT eTegr
(LPBHETENLD (&6UTERTL_LD 6TesT

Qrdudésd afles

FACHE
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16. The HF splitting pattern of CH, is
(A)  singlet ' (B) doublet
(C)  triplet ' \W quartet

CH; -6 mieir 9erey eremen?
A)  qeamrs (B)  @a Qerey

(©) epammrs Werey (D) prenans Yerey

17.. Which nucleus does not give NMR signal?

@) H B) F*

(C) P31 W 016 .

Epsaam ﬂgéaﬂusﬁoa&@ﬁgx NMR engens smeudlaeney?
@ G H (B) F¥

18.  In which spectroscopy nitrogen rule is used?

(A) NMR \B Mass

(©) Raman | D) IR
enmpL_regen 698 LiwiaHib Hlmiworene érgj?

(A) NM,R (B)  Qumpemreno Himwrene
0y e | ‘ D) IR

FACHE ' 8



19.

20.

21.

In NPK Fertilizers, NPK stands for

(A)  Sodium, Potassium, Phosphorous
\V Nitrogen, Phosphorous, Potassium

I(C) Nitrogen, Potassium, Krypton

(D) Neobium, Palladium, Potassium

NPK o g&dlev, NPK eranuig) erang @fédms.
A) Gemgwibd, QurlLrdlub, urevuren
(B)  emplymedr, umavuyev, Qur L rdluib
(C) m‘ﬁ,LUggshT. Qur__r&wib, HMC_mebr

(D) FCwmlwib, QuGegwitd, @ur L rélwib

Find out the micro nutrient among the following.

(A) Nitrogen \W Zinc
(C)  Phosphorous (D) Potassium

Slesreu(meuareum Med miewr 2 ulT 8581 aramLg) eTg?
(A)  eopliyggen _ (B)  sssprad

(C) umevugew (D) Qum’ b

Optimum concentration of nitrogeneous fertilizer in water is

\W 25 megl (B) 35 mg/l
©€) 42mg/ (D) 50 mg/l

Bl ienindlaaiiuic L enplyemen 2 yédlem oare
(A) 25 mg/l (B) 35 mg/l
(C) 42 mg/l (D) 50 mg/l

9 '_ ' FACHE
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22.  Which one of the compound does not undergo hydrolysis readily?
(A) methyl formate
(B) methyl acetate

(C)  ethyl acetate

\W?7 methyl butyrate

SpssaL papadampaaie adle FCrmmwb perLGuprg?
(A) GQugdeé umiGol

(B) QusHd A CLL

(C) asdléd A G

(D) GQuwsdHe '.;—l:';—‘fl-(g'ir"—

23. Benzyl carbonium ions are more stable because it is stabilised by
(A) inductive effect
(B) steric effect

\(9)’ resonance effect

(D) hyper conjugation effect

2fs BHawoliyg saewiuen Querasd smCumailub well b eflepereured Hlavwliys

genenwWTEng?

(A)  grewre elenernay
(B) Qsrerafl_ eSlenerey
(C) 2L almsealenerey

(D)  =dlur elementiiy eflenerey

FACHE 10 ' o}



24. Be has more ionisation potential than B. Why?
(A) It is difficult to remove an electron from half filled 2p orbital of B
.UB( It's difficult to remove an electron from completely ﬁlléd 2s orbital of Be
(C)  Be is smaller size than B

(D) B is electronegative element

Be gdlan oyweaflurg@o <pnnéd B-g efl. oifswneans. gen?
A undl AydQuerer B-gdlen 2p G)eveantésm i iqel(mpal (b aTos_yramner BH@eug Glganorais)

(B) (_lp@@JQILj) BlybQujeter Be gélan 2s Qavenssm ql@mpg @@ eceslgraa Hé@eaug

By QMO
(C)  Be jarefiled B-g afl Sblwisy

(D) B eas gmen miriy iflsid Qsram g

25. The order of screening effect of s, p,d and f orbitals.
(A) f>d>p>s
\V s>p>d>f
(©) s>p<d>f

(D) psssdef

5, 0,d, f i L_nésalen wenssd edmeraden sflunar auflas
A) f>d>p>s
(B) s>p>d>f
(C) s>p<d>f

D) p>s>d<f

o] . 11 FACHE
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26. In termolecular reaction the molecularity is

s

(C)

8 (B) 2
1 (D) 4

P epedann aflenaruiler ppev&sam) eTT GTETLIS)

A4 3 B) 2
© 1 ' D) 4
27. The dimensions of rate constant of second order reaction invoives
(A)  Only time
\Qf Time and concentration
(C)  Time and square of concentration
(D)  Neither time nor concentration

QuerrLmd cuens eilenamuder allenanGous wrmledluden rHLRSSLILIL [HeTar jaTa

@) Gpyb G
(B)  Cprbd whmb Aedley
(C) Gy whmb GeMelen aurssd
(D) Cpnb ez Gedley
28. Hydrolysis of sucrose is an example of ——————— under reaction

(A)  Zero order

W Pseudo order
(C) First order
(D)  Second order
F&Grmen Hrrhu@ssa efamen ——— cuans elamans () S8EETLH
A)  upwaums
(B)  Gumell wpséd suens
© 5o auems
(D) @uewrmb cuens

FACHE
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29.

30.

31.

Calculate the electronegativity value of chlorine on Mullikan’s scale, given that
(IP)¢; =13.0 eV/atom, (EA)q =4.0 eV/atom .

(A 3.63 (B) 3.75

W7 303 D) 3.00

@Camflaflenr  ceslgrenr  sauiflper  wHUGmar  plldsar semeilgd  sansd(Hs.
(IP)¢, =13.0 eV/atom, (EA)q =4.0 eV/atom .

(A) 3.63 (B) 3.75

(C) 3.03 _ (D) 3.00

Which element has lowest first ionization energy?
(A) Be B) B

© c W o

TS SO G@DHBHETE| (PSE Wil wmE@L .%.rj),r_l)ab QlasresrL_gy?
(A) Be (B) B
© C D)y O

The amount of energy absorbed in the process in which an electron is added to a neutral
gaseous atom is defined as

(A) First ionization energy
(B)  Electronegativity
\@' Electron affinity

(D)  Second ionization energy

aimy Hoaomodgeder pHHoo Sgelea @if aoslgrmar Gsidg adiflan sowujmw
Sweflenw e maurs@ Curg CeemeuiuBib DM

A) wpsd SweluréEd SpHDa

B) e _yren sau r'rg,lchmm

(C) eregLlgmen HTLL LD

(D) @uesrLnbd SwaflursEd Hnmeo

13 ' FACHE
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32.  The order of crystal field stabilization energies of the following three complexes
@) K, [Fe(CN)] |
(b)  [Fe(NH,),J**
©  K,[Fe(Cly]

(A) b>e>a Wa.>b>c

(© a>c>b ' - D) esb>a

Epésam_ simeney Coiwmsaflan flamliys saemw abs aamsuild Gmseib
(@)  K,[Fe(CN)]

(b)  [Fe(NHy)J**

© K, [Fe(Cly]

(A) b>c>a B) a>b>c
(C) a>e>b : D) c>b>a
33. A Tetrahedral complex will not exhibit geometrical isomerism because

(A) Itis planar
' \(B‘r In Td complexes all positions are identical and almost at equal distances
(C) InTd complexes the ligands must be same

(D)  Tetrahedral complexes undergo free rotation

G gr@sye smberselie HurCul Msss yp Caipmemn Gmliuddme gen
A)  Gg swser si@wlL

(B)  erovarr @enenriiLs(@sid swiorar &N o areng

(C)  eear darena@sn Cr wrdflurs @ me@hd

(D) sraﬂg;ne% SLO@ILD

FACHE | 14



34.

36.

If a solution of phosphoric acid contains 100 g of monohydrated phosphoric acid what is its

concentration in normality?

3N (B) 0.3N
W

(C©) 1N (D) 0.IN

uravuris yfle smysdld 100 g SGrpmru L uravurils 8L GHHamd oigean e Hrioedl Ly

<jeredled creueueTe?
(A) 3N (B) 0.3N
©) 1N : (D) 0.1N

Fundamental factor behind size exclusion chromatography separation is
(A) density of analyte i
(B) pressure of analyte
(C)  boiling point of énalyte

T size of the analyte

umwen Bad GCrmCorGur rmds apenuie embs g LumLudd GfssiuGEpg
A WNssLL@BL Qummefler LTSl

(B) WRGsLL@D Qurpefler 2i(p&sW0

(C) WAssLLED Qureflar Aardbleane

(D)  QAssLu®mD Qum@metlen LipaTeTe

Which of the following is not an electrophile?
(A)  Methyl carbonium ion
(B) Hydronium ion

W Ammonia

(D)  Nitronium ion

Spaer_eumdHled aTg) TSGLFIET Heuil Syemt] e ?
(A) Qugdla srGurafiuwn swefl

B) oan Crraflwb wefl

(C)  wGurewim

D)  epCrraflwib oweafl

15
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37. A complex with co-ordination number is four of type Ma,b, on treating with oxalate ionic

solution gives a complex with one oxalato dianion then the complex is

W cis-square planar

(B) trans-square planar
(C)  cis-tetrahedral

(D)  we cannot predict the geometry from such reactions

pren @eana ererr danar. Ma,b, eims Gamowrearg oysamCal smyogdr eflevaney gl e
baGLCLT Hymarey Coiogms AsrDadng aeamre <ibs Caiwolb

(A)  cis-ev@amwir LGeTarTi

(B) trans-evQsrwi OCerarm

(©)  cis-QuignQs yé

D)  Qaemswner elmarsmar Asmar(® Lp Caunmebaamar saT(HNg&8 (pig g

38. Which of the following equation is used to calculate the spin only magnetic momentum of
the complexes? N — Number of unpaired electrons, S — Total spin.

N = (NN + 272
B)  u={NN+ 1)} up
©  p={S(S+1}2u,

M)  u={S(S+2)}"? u

&Q&@Tl_euﬁ)ﬂsb g @0 Sowed Cemosdar smhs phsssms sarsdll LweLBADE?
N - sppél 7 Qeliwliu s sresljrasalen aarafsms, S — Qunss &LPDE GeUTaRTL CTeT.

(A)  a={N(N +2}"% uy
B)  u={N(N+1)}"* uy
(€  p={S(S+D}"* uy

D) p={S(S+2)}"* pp

FACHE 16 | 0]



39.

40.

41.

The emf of the standard hydrogen electrode at 25°C is

A) 08752 P 02875

(C) 0.7582 (D) 0.5278

25°C Al enam_ggmen Wilemeumuilen emf

(A) 0.8752 (B) 0.2875

(C) 0.7582 D) 0.5278

Which of the following statement is true?

(A)  Ostwald's dilution law holds good only for strong electrolytes and fails completely
when applied to weak electrolytes

‘99' Ostwald's dilution law holds good only for weak electrolytes and fails completely

when applied to strong electrolytes

(C)  Ostwald's dilution law holds good for both weak and strong electrolytes

(D)  Ostwald's dilution law does not hold good for both weak and strong electrolytes

e mid gamdlayerer ergy) sflwimeng)?

(A)  syeveundigen Bigsed efld cuellend WIEGHS WlaIFHmIENIEE p_asgggarr&mm auelleno GHnmBS
Blersara)&E LWaThnSTsa|b 2 arerg)

(B) peveundigen Hisse el audllend @Ganphs OTEMIFVISHE L HHSHTEID UMD GH®MHS
lenaenFey)&E@ LWaTDDSTHAD 2 6Terg)

(C) yevaundigean Hirgsw ald audlaw WEHS LHMIL auellanw Gmphs WTE@ISRIHE THDSTS
2_GTeTg)

(D) ggbafuéu rediger Hirgsse el euallano B@GHS WHHID euellants Ganmpbs WaTsmIFaI&EE 2 SHSSNS
@evena

Which is correct about pH?

W opH=-logH] (B)  pH =log[H']

(C) . pH=log[OH ] (D) pH=-log[OH ]

Weneumeueeupmiet pH g sflwmis ergy @Hléfmg?

(&)  pH=-logH'] (B) pH=log[H"]

(C) pH=log[OH] (D)  pH=-log[OH]

17 FACHE
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42.

43.

44.

The distance between two layers of B-N 1s

(A) 6.33A
) - B8:33A

g 833A

(D) 4.33A

B-N & Qe =i(h&E@sEnédlan_wmer gyn

(A 6.33A
(© 5.33A

In B-N, thé 7 electron are

W Partially

(C) Randomly

B-N & 7 crevsL_yrenaer

() uved
©C) o dflurs

Fill in the blanks :
BN +K,CO; —» ? o

(A) KON +BO,

(C) KCN+NO,

Blylys :

BN +K,COy—__ 7 +

(A) KCN+BO,
() KCN+NO,

FACHE

(B) 833A
(D) 4.33A

delocalised.
(B) Completely

(D) Inrows
ugadudmsdma (delocalised)

B)  wpuyugw

D) aflenswrs

\J”” KCNO+KBO,

(D) KCN +KBO,

(B) KCNO-+KBO,
(D) KCN+KBO,

18



45. | What do you mean by standard solution in volumetric analysis?
(A)  the solution containing 0.1 N solution
\y the solution, strength which is exactly know
(C)  the solution has strength 1 N

(D)  the solution has strength that is to be determined

eVLMemL_T Senfaed erenmi Limoadl LigLiumiielled erans @dlédlemmmi?
(A)  0.1N Hper 2 6rer sennsd

B) s sereadlen sflwrer fimer CsflyCuom =g

(C) 1N flmerr 2_creT HEnyFD

(D) B seysedlen Hmen sewrdlwiliL CeuamBCLT 25

46.  Which technique is used to separate a solid undergoes decomposition at sublimation

temperature?
(A) fractional crystallization

(B) melting

‘@' sublimation

(D)  sublimation under reduced pressure

LBRIsLIEH Aeuliuged 2 eLww Aur@mLsmer Uflss LweTLHL e 6TgI?
(A)  uEd dSpugarsEsw

B)  2mésso

(C) ushiswLIGEsD

D)  GonHS 2i(Pss6H60 LSHRELNESED

o] 19 FACHE
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47. The number of bonds in carbon — carbon double bonds are
(A) two o bonds, one 7 bond
(B) two o bonds, two 7 bonds

W one ¢ bond, one 7 bond

(D) one o bond, two 7 bonds

siue — aniuear @rie U WanewrliGaiarer aneariisefler erapranidans
Q) @uewr(® Séwor SenewriL&6T, e enU SlanerriL

B)  @new(® Hswor GeverriLger, @rem® e GepanriLsHeT

(C) e Hlawm Genartiiy, ¢(p enut Genamriiy

D) e Aswr Qenawriiy, Gyanr(h L enerTiiLiger

48. Which is not liquefied in Faraday method?
A 80, (B) NO

(© O, ‘ W7 N,

erg) umpGLo apenenmuliied Brorseiaanen?

A - S0, (B) NO
© Co, @ N,
49. For an ideal gas, the compressibility factor z =1, it is indicates that

W Independent of temperature and pressure
(B) Independent of temperature
(C). Independent of pressure
(D)  None of these

mBevellwey eureder @msss smenfl z =1, Qg Gsefleidag

A  @ésmranfl deuliudleney HMID SU(PSSSOSE SNTHE @ane
B)  Gauuflamwamws sribg &) dmea

©)  oysssmss srihg Gdeme

D) eagejdoama
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50.

51.

52.

having tetragonal system.

W TiO, (B) NaCl
(C) CuSO, - (D) CdS
prenapdl siewlienu QuppeTeTg).
A)  TiO, (B) NaCl
(C) CuSO, (D) CdS
Which is having three plane of symmetry?
W Orthorhombic

(B) Tetragonal

©) Hexagona'l

(D) Monoclinic

a8l e HeT WEeng GubhmeTens

(A)  <osCasmCrmblils

(B) prenpédl

(C) T LALES A= g

(D) CurCGeamdlefais

Crystal lattice of substance categorised as

(A) 8types , W 7 types
(C) btypes ' (D) 3types
Uig& 80 () lenliLjarer QUmmHener euensLiL(HS5ie15)

(A) 8 auawsser (B) 7 ecuensaar
(C) 5euemsser (D) 3 euenssar

21
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53.  The chromophoric group present in acetone molecule is

(A C=cC W C=0
(©) N=N D) N=C

SIALCLer ppavésadled 2 emer @GrmGom.Gumt Qgr@d erenen?

(A) C=C B) C=0
(©) N=N ' D) N=C
54.  The largest peak observed in mass spectrum is

W Base peak

(B) Isotopic peak
(C)  Metastable peak
(D) Molecular ion peak

Qunmeamenio Fipwreaude He_s@wb 2 wihs e 687
@ spous sl |

B)  gGenGLrl apa®

©) Aeewubnp s wseh

D)  eossmn wsd

55.  What is the ‘g,’ value for free electron?

(A) 5.58 ~ (B) 4.58

&~ 20023 _ (D) 1.008

safl cravsgraflar g, wdHiy erenan?
(A) 5.58 (B) 4.58
(C) 2.0023 (D) 1.008

FACHE 22



56.

57.

58.

Ionic radii of lanthanides decrease in a series from

\M Left to right

(B) Right to Left
(C) No change

(D)  Irregular change

ompsmarhsaiicn swell 24rb 250z Gopag)
@ @ ENwhE e
B)  awfdnbg @8l
(C) wrHpb ggbldeme

D)  euhseHD LTHOHD

Actinide contraction is due to poor shielding effect of

(A) 3d electrons (B) 4f electrons
W 5f electrons (D) 4d electrons
ydig aBaaien GnéssSHE ——— sl yenaaer Siramwwdp Sy weplGu pGLd.
A 3d (B) 4f
(C) 5f : (D) 4d

The paramagnetic properties of lanthanides are due to unfilled
(A) d - orbital (B) s —orbital
(C) p—orbital G f-orbital

arpsmarBsaflen LMTTETHSS SETMDEES HTIETLD, (PIHEISID Bimburs
A d B) s
© » D) f

23
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59.

60.

61.

In SN! reaction the intermediate is
(A) free radical

(B) transition state

w carbonium ion

(D)  carbanion

SN' aflenemudier HenL_d@b @)L Hlenels QummeT ereman?
@A)  safl e guiy

B) Aerul L fleew

(C)  smCGurefwb wef (=) &TTCLIT ST Wime

(D) sy TeTwTeT

In the following atoms or groups which is not electron releasing?
(A) Nitro (B) Hydroxy
(C)  Bromo " Ethyl

Sipssan sigy o0z AsnEHudd ageras o QeualCuihprs?
Q) eprCyr | B) ant jrés
(C) yGrGor : (D) easde

In.the following atoms or groups which show-M effect
(A)  Amino (B) Todido
\(99’ Nitro (D) Hydroxy

Spaae_eupmier e (<) G g — M elaeraneus aarrl'_.@laﬂg)g,}
(A)  ouCerm (B) oCunCLr

(C)  epCpr i (D) eangréd -

FACHE 24



62.

63.

Ion formed by removing one electron from the parent molecule is

g

(B)
(©)
D)

s ppevsseadle @mbs @ aasyremarn badem e &b Swefluilen Guwi eremen?

(A)
(B)
©)
)

Molecular ion
Isotopic ion
Metastable ion

Negative ion

ApeL&Ea ) i wief]
@GerGLml Sjwefl
Hlevawmnn jwefl

aflim jwefl

Which statement is not correct?

\W Se—is a metal

(B)

(©)

D)

‘Ar—is a noble gas

Ce—is a Lanthanide

Rh—isa transition element

aTps sapm sflureng) siee?

(&)

(B)

©)
D)

Se—gp 2-Garsid
Ar—g5 wjs aumy,
Ce—gm @rhsamen(

Rh—gm @mLflaws saflobd

25
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64. How many elements present in cubic crystal?

@a 1 G 23

<€ 9 (D) 13

SAEGIT Ui &S0 THSHNET 2_M)LIL|&S6T O_aTeTen?
@A 1 (B) 23
© 9 D) 13

65.  Hydrolysis of ethyl acetate
CH,CO0C,H; + H,0—*,CH,CO0H - C,H,OH

W First order (B) Second order
(C)  Third order (D) Zero order

ardle 28 Gl g H pamafiemaude Srmhugsse

CH,COOC,H, + H,0—" > CH,COOH + C,H.OH

A) s euans eBlenar (B) @uewrLmb euens ellenan
(C)  eparmrbd cuens elene D)  ygw s eSlane

66.  The effect of temperature on the reaction rate is given by
\M Arrhenius equation
(B)  Gibbs Helmholtz equation |
(C)  Kirchoff's equation \
(D) Vantt Huff equation

CeueuGeuny Qauiulencvaafier sflwmer eflenanGeus wrHalluferr wHlienLs il LwemHid FwemT@
A)  siradefluey swearur(®

B)  Auev apaibCamir_s seTun()

(C) dfésr swerun(

(D) eaumerlsml swenun(p)

FACHE 26



67.

68.

69.

Borazine reacts' with ——— to give B-trimethoxy borazine.
\»f CH,0H B) C,H,OH
(C) CH,0CH, (D) CH,Cl
Gurgélen o Lan eflenan i B-Uanyibsgréedl CLmydler Gam(Ba@b.
(A) CH,;OH (B) C,H,OH
(C) CH,OCH, ' (D) CH,Cl1

Choose COI‘Z‘éCt sentence.

(A)  All silicates are soluble in H,O
W Si—0O bond is covalent
(C)  Structure of silicates are studied by » rays

(D) Cement is a natural silicate

sflurer spenp CoipAs®

A) eoarHdECa [Haenb sarafile sy

(B) Si-0 Yaemriy em salblameniy

(C) AdsCs (Hasaflen sia@wlienu ¥ &ETEHET ppavLd Lig&&HEMD

(D) #AQwarr’ gm Qunams Hall&Cs

The fuel element used in nuclear reactor.
(A) Aluminium ' (B) Sodium
(C) Calcium W Uranium

Sl 2 emauile Lweru@ erf@ummer
A)  saudelub (B) Gsmgwid
(C)  &redwib (D) wyCraflww

27
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70.  What is the IUPAC Name of the complex Na,[Fe(No) (CN);]?

(A) Disodium nitrosyl pentacyano ferrate (II)

(B)  Sodium nitrosyl pentacyano ferrate (IV)

(C)  Sodium pentacyano nitrosyl ferrate (IV) '
W Sodium pentacyano nitrosyl ferrate (I11)

SpsanL @menrey Camsdlen sflwner [TPAC Quwir Na,[Fe(No) (CN),]?
Q) @ Csmguwb enplCrrdler QuarLrewCerm QuCrl (II)

B)  Gemguib enplCyréled Quen_mewGearm AUGHL (IV)

(©) Comgqwid Quen_mawGer enpCrréler QuGrl (IV)

(D) Comgquib Guer_mewCerm GF)‘T_T)I'_.GIJI'I'Q'GU QuGgl_ (ITI)

71.  Give the IUPAC Name of the Complex [Co(NH,),;] [Cr(CN),]

(A) Hexacyano cobalt (II) hexamino chromate (IV)
\V Hexamine cobalt (IIT) hexacyano chromate (II1)

(C) Hexamine cobalt (I) hexacyano chromate (V)

(D)  Tricyanotriamine cobalt (IV) tricyanotriamine chromate (II)

Epaawr @emenrey Cemngder [UPAC Quweny Cairey Gauwiwea)d [Co(NH;)s] [Cr(CN),]
(A)  QansewrswGamGarural (II) QansevrebGanr @GrmCuwl (IV)

(B) - QansevenwenCarurel (1) GanseavrswCeant @CrrGol (I11)

(C) Ggr_r;ésaummsﬁ@asnurrebt; (I) QamgevrawGenr gGrmGul (V)

D)  LeagswCenrm’engiemwen Carurarl (IV) LagswGarm’_eny <anwergCrmGul (IT)

72.  The Effective atomic number EAN of the central atom in the complex K,[Fe(CN);]
(A) 38 B) 24

qﬂf 36 - (D) 26

K,[Fe(CN)y] erenm yenaney Camogdler EAN GFGSJG}JGTQ.{.
. (A) 38 B) 24
(C) 36 (D) 26
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73.

74.

75.

How many different atoms or groups bonded to chiral carbon?

(A)  Two - W Four

(C) Five ' (D) Three

(frepowmm) dyré  sriuafle  adsmear  lsSHursorar  JgssEaT  Doag  Aem@dedn
Slenentih S (Hé@ WD ?

A Qe (B)  mreng

©)  gbs D) wey

The no.of chiral carbons present in tartaric acid are
(A) Five (B) Three
(C) Four W7 Two

LriLrflé Sl aigman mare (Fienwwmhp) STUETEET 2 drerer?
A)  @bs . B)  epeny
(C) pran D) @rear®

Meso-tartaric acid cannot be resolved into optically active forms. Because
(A) Absence of chiral carbon atoms
(B) Enternal compensation

(C) Not superimposed on its mirror image

\m‘( Presence of plane of symmetry

BCer LmiLrfls oublowgas eafl spndl uvamyoLw vl CQummlseams Gflés pywurg.

gLlarenmme

A) @dle sy a;rrr’rus&mdf@ebmm
B) Qaeflwripg rH Gealge

C) =g Ybu SewluTs @)HEsTs)
(D)  &renwggemd Carerr(Herans

29 FACHE
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76.  In a low spin octahedral complex the crystal field splitting energy 240 kJd/mol for a high spin
d” configuration. Calculate the crystal field stabilization energy is

(A) 240KkJ
W 192kJ
(©) 200kJ
(D) 180kJ

om d' aeslgrer Se@wliyerer e wi spHhél Carwsdd Hflevid ya GRNCY eyppé 240 kd/mol

STRDITED 3ihd SenoLide Fleneowimmmed @eummled 6rg)?

(A) 240 kd
(B) 192 kdJ
(C)y 200kJ
(D) 180 kdJ

. When a substance undergoes the redox reaction the change in oxidation number is +3. The

molecular weight is 30. What is the equivalent weight?

@) 90

B) 270
o 10

D) 45

psaRCarnn @Hés elaaniis FHUBL e Aurmaier ysallnCarhn eramanfer ghHu@LL WTHOH

S eremmmed BiFE ppev&sam eTenl 30 @WmEEGL Cug FréEGeuaTL eTenL

A) 90
B) 270
© 10
(D) 45

FACHE 30 L



78.

Match List I with List II and select the correct answer :

<L auaent | wpmid i Leuear I1 g uwearLRsd sfliurer el aw Caisds®

List I
(a) Electrode reversible
with respect to cation
(b) Electrode reversible
with respect to anion
(¢) Redox electrode
(d) Reference electrode
(a) (b) (c)
A 2 3 1
(B) 4 1 3
C 2 1 3
T 4 3 1
Si_Leuenamr |
(a) BatgemenpwjenL
Cpmblemeumis LlemseLd
(b) BeT HemeniDU DLW
28 iBldraimi) s
(©) oM&sgnm blereumi
(d) Qsfpsden
9lg. 55 LBleTeu i
(a) (b) (c)
A 2 3 1
B) 4 1 3
©c 2 1 3
(D) 4 3 1

(d)

B = B e

(d)

[N

List II
1. Pt/Fe?*, Fe**

2. Pt H,(latm)H"'(a=1)

3. AgAg CI(S), HCl(aq)
4. Ag/AgNO,

o_Leuenesnr 11

2 Pt/Fe®* , Fe*

2. Pt H,(latm)yH"(a =1)

3.  AgAg CI(S), HCl(aq)
4.  Ag/AgNO,

31

FACHE
[Turn over



79. BN, on hydrolysis evolves

A4) O, B) H,
© N, W’ NH,
BN, Srmpu@sse eflaeanudenme o QeuafiCuppdpg.
@) 0O, B) H,
© N, (D) NH,
80.  ——————reacts with excess ammonia to give BN.
W Diborane

(B) Sodium borate
(C) Boran oxide
(D) Boran chloride

2188 SibGoraflurey e allear yfpg BN QarGsdng.

A) @ CunCrer

(B)  Csmgwwd GurGrL
(C)  Gumyner oysme(
(D) b Gumymen @Gearmeny(H

81.  B-N bond length is

\y( 1.45 A (B) 158A

(C) 245A (D) 3.58A

B-N en denemriiLy pemid

A) 1454 - B) 1584
(C) 245A D) 3.58A
FACHE 32



82.  The normality of a solution in chemical volumetric analysis implies
‘M the number of equivalents of the solute in 1 litre of a solution

(B) the lnumber of moles of the solute in 1 litre of the solution
(C)  the number of m.gms of the solute in one litre of the solution

(D)  the number of molecules in one litre of the solution

Caudludwev LGSsTLHM Brromel iy eTemLg) eTens GO ns)

A)  @m i samrsadd Bméa g ser@unmeilen ri@aiament e @Blédng
B)  @m ST sarsalle @)HéHs salgw GCoraen

C) AL smrsele @& galquw WB.Hrmbaer

D)  omdlLTsmredld @Qmes dug L aposann saficr erammantsans

83.  One of the mechanism leading to co-precipitation of the impurities along with Aﬁalyte 18

\W surface adsorption

(B) desorption
(C) dissolution

(D) dissociation

r&Eeyb SHwiu@®b Qummeser Cerbg eSLpLIGaINS WTD STyeswrD
@ ypmiy

B)  yp2.Blipsa

(©C) sarsa

(D) oaLge

o] 33 FACHE
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| Al

84.  In cyclohexane, which is the most stable form? .

(A)

@
(©)
(D)

Boat
Chair
Skew boat
Half chair

GuEeL Gm&@&aﬂsﬁ THs SenwliL Wseayd flenewmeang?

A)
®)
(©)

D)

UL @
BrH&TES
G @G UL

urd BrHamed

85. CD & ORD curves are useful for the determination of

A)
(B)

concentration of a compound

opfical activity of a compound

W configuration of a compound

D)

CD wnmb ORD euenyuL_miser Spsanr_cuhile ergm@ Lweru(Hdng)?

(A)
(B)
©
D)

FACHE

wavelength of a compound

Qg:@é;ah,n_’)]eirr SILTEH)
&g Hler eperl a@;b.ﬂ
eLPGVEEn. DG B LIL

eLpevaa e iana Herd
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86.

87.

88.

The critical temperature of oxygen is
(A) -269°C
(C) +374°C

2y sélgaflan Hlaawormy Geuliublene
(A) -269°C
(C) +374°C

The ideal gas equation is

(A) [P+%)(V—b) =RT

a
(®) [P—WJ(VH)) =RT

BevaSlwedry eumuyd Foemuim(h

(A) (P+%J(V—b) =RT

(©) [P —%](VH;) =RT

il

The compressibility factor
(A) zero
(B) less than one

(C) greater than

\Qf equal to one

mavedlwe | eumyeilern Qm&ss sryanfl Z
B ygguid

. (B) gereanmail_& @emmey

(C) gamanpail ofaibd

D) qerméE swb

35

(B)

B)
(D)

B)

®)

D)

for an 1deal gas is

—249°C
-119°C

-249°C
-119°C

[P—%)(V%):RT

PV =RF

(P—%J(V—b):RT

PV =RT

FACHE
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89.  Find out ESR active species.
(A V% ion (B) CH;

(C) CH, : \Q’ All of the above

ere&Lmen &pHé Hmwreae QETREGLD uens 6rgy)?
A) V>*in (B) CHj

(C) CH, ' D) Qe S@eISgID

90. Moment of Inertia of a diatomic molecule is

A  I=puct \@f I=gr*

© I=1/2mv® ‘(D) I=1/2mc®

FrED) epadisadlen Qenawre wrbled ereucummy sarsdL LB ng?
@y I=uc . ®B) I=ur?

© I=1/2muv? D) I=1/2mc?

91. The value of force constant % for a bond is
W dr*cPw?p B) 4r’c*u

(C) 22%%u D) 2r*c*wiu
efleng wmhledl fe-air iy

A 4zl - B) 4r’c’u

C) 27x%*u D) 27%c*wliu
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92.

93.

94.

a - particle containg —————— protons and
(A) 2 protons, 1 neutron

\ﬂ( 2 protons, 2 neutrons
(C) 1 proton, 2 neutrons

(D) 1 proton, 0 neutrons

neutrons.

a - gsafia 4CpmlLrengar HmLd
(A) 2 yCyrmiinenser, 1 Q%Lgnmé;s'rr

(B) 2 4Gy nenser, 2 Hlyyl grenaeT

(©) 1 yCpmiimer, 2 Byl premser

(D) 1 yCymii e, O Bl premser

An element not belong to lanthanide series.

(A) Ce 2" Th

(C) Ho (D) Lu

arbsemer(h Qsr_fld @daars saflob eg?
(a) Ce (B) Th
(C) Ho (D) Lu

BILLL_TTGTHET 2_6Tema.

Which of the following lanthanide ions show diamagnetic character?

W7  Lu® (B) Ce*

(C€) Dy™ (D) Ho™

e rhHgene(h &usﬁﬂasérﬂéo eTg LW &Mhg uemrentl ST HEngI?

a)  Lu* (B) Ce™

© Dy* (D) Ho*

37
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95. Reaction between ethylbromide and sodium hydroxide is an example of
(A) addition reaction
@r substitution reaction
(C)  elimination reaction
(D)  both addition and substitution

agdler YCrmenwB&Eh Gamgwib eanl mréms@éGhn QoL Cu pLEEGD efNaar reiamsmuF
ST 557

(A)  &L© efenar

B) v B lenar

(C) Bss cllanen

(D) &l ® wHmb uHSH eNmansar

96. In elimination reaction how many 7 bonds are formed?
W one (B) two

(C) three (D) four

&8 eflenamuiley erggener enLl Emmﬁuqa;eh 2 (HeuT&mg?

A  geny B) @ran®
(C)  apenmy ‘ D)  preng
97. Elimination reaction is carried out usually in

A gas phase

(B)  liquid phase
(C)  solid phase
(D)  both solid and liquid phase

B&8 eflenar QUgleuns aThg @meommuﬁlsb BenL_Qumid?
(A) aury flenewento

(B)  dyau flenevanio

(C)  d fevevenio

(D) - F wpyb Hyeu Heveranio
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98.

99.

18th group elements are called

(A)

Halogen family

W Noble gases

©)

D)

18 AgrEé saflomi&eT

(A)
(B)
(©)
D)

In which, the rules are followed correctly to write the electronic conﬁguraﬁon.

(A)

Alkaline earth metals

Nitrogen family

CanCGerggen @& HLOULD
(DH& UM &EET
ST e 2 Cemam&Her.

BLyRe & HWULD

1525 2p2 2p;

B 1s°2s°2p,

(©)

D)

erdled erevéLyren HHanoli effaer sRwrs LwetuBssuLL(BaTaTen?

)
(B)
©)

D)

1s® 2s' 2p2 2p), 2p;

1s% 2% 3s*

1s® 25 2p; 2p,
1s%2s°2p,
1s? 2s' 2p2 2p), 2p,

1s% 2s® 3s*

GTATM BHEMLP&ELILI(HILD.
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100.  The calorific value is defined as the amount of heat produced in calories when

of a substance is completely burnt.

M one gram i ' (B) one mole

(C) 100 gram _ (D) 1kg

Qurmenar wppaugid erfléEnGung e maunEh Aeuliugder ety G wdlly

ereliu (pib.
A emdgmbd B)  &m Cwre
(C) 100 &gmbd (D) 144

101.  The heat of neutralisation of a strong acid and a strong base is always
(A) zero (B) positive
\SW constant (D) changing

auallenwo L8l@ blewwd wHmid euallenio W@ smysSer BHFeeWTEHSH QeuliLith 2QLGUTgID
(&) ygBub (B) Crir iy
(C) wrhed D) wrHpw

102. Which is having Rutile structure?

(A)  NaCl - W’ Tio,

© K,0 (D) ZnS

oTg) L& SevwiieLs QunmieTeng?
(A) NaCl (B) TiO,
© K0 (D) ZnS
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103. Identify the drug used as antiseptic.
(A)  Aspirin (B) Paracetomol
\M Iodoform (D) Chloroform

HenT SH LTS LWeTUHW Wwhbens ser By,
(A) e “(B)  umyrélLwméd

(C)  guwlLmumib D) ECamGrrlumnib

104. Drug used to relieve anxiety, fear and depression is called as
(A) Antibiotic

\ﬂ( Antipsychotic

(C) Antiseptic
(D)  Analgesic

USL LD, CaTLILD, D& SI(PS85MS G@NHE LWETURLD W(HHE Taiaumn S@WssLu®ng?
(A)  Copmu ey srenf |

B)  wssGar adiriy srenfl

©)  yeysELILTEN

(D) e Hlaurgenf

105. Thiopental drug is used as
(A)  Analgesic \(Bf Anesthetics
(C) Disinfectant (D) Antiseptic

SCwrGuarn e wmbgl eThs srenflwres L& ng ?
A)  aed Hleumyenfl _ (B) wwas ompsy
©) Al prdlef (D) yenr Hleuryenf]

o 41 . FACHE
[Turn over



106. The lanthanide element used in the manufacture of paints for porcelain and dyes.

M Ce ®) K

(C) Cu (D) Ca

s Ten&(E ﬁmcmj)@uﬁa;mm wHOID LhSHew FmullLeyb UwerLBLD rpsmen(H SN 6rg.
A Ce B) K
(C) Cu - (D) Ca

107. Which of the following can be ligands?
@®
(a) NH;4
® CON-
® ®

(c) NH,-NH,

(d NH,-NH,

(A) (a)and (b) (B) . (b) and (¢)
W band@ - M) (@ and ©

Sipsawr_cudmIET cTaneuQuicvemd eflsmerms GlaweLL (pigujb
®
(a) ) NH4
(b) CN-
® &
(0 NH;-NH;
(d) NH,-NH,

(A)  (a) and (b) : (B) (b) and (c)
(C) (b)and (d) (D) (a) and (c)

FACHE 42



108. Which of the following is an electrophile?
(A) NH,; (Ammonia)
(B) Water
(C)  Alcohol
T BF, (Boran tri fluoride)

Epsam_cummley 6Tg) eTadL e &eu siyewtl?
(A)  NH;(@ibGoraflur)

B) B

(C) osanmed

(D) BF; (Gumpmer geny o-LienCrman_ ()

109. A reagent which can donate an electron pair in a reaction is called a
(A) Free radical
(B)  Electrophile

W Nucleophile

(D) Molecule

e eflenaruiled, ellener srenfl erevéLymen @l amwié GaTHLULMS cTeueUTN) DHEDLPSESMD?
A)  safl2miny

B)  erevsL_ymes seurm Siyewfl

©C)  smaseut sranfl |

D)  epossan

o 43 , FACHE
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110. An element has 2K, 8L. and 2M electrons, find out the atomic number and number of P

electrons

(A) 10, 8P electrons

(B) 10, 6P electrons
- (C) 12, 8P electrons

\ﬂ( 12, 6P electrons

em sailob 2K, 8L LD;_E)QU.E)QM eren erevéL_grensanar Qamear(Hererg). jem) erewr HmD P erevsyren
THEHOE TS LD Gair(HL9ig S8 1D '

(A) 10, 8P ecrovsl_grenser

(B) 10, 6P cravs_grenser

(C) 12, 8P crovsL_grenser

(D) 12, 6P s _grenser

111.  Write the electronic configuration of Cu*
Q) - 1s*2s*2p®3s®3p®4s® 4p® 3d°
(B) 1s*2s*2p®3s®3p°4s' 4p°3d*
(©) 1s*2s*2p°®3s®3p°4s®3d°

W 1s® 25® 2 p® 3s% 3 p® 45! 3d™

Cu® Gh.a;rméan'_urrein SILOLIGHL GT(LDF).
A)  1s*2s*2p° 3323;;5433496 3d*
B) 1s*2s*2p°3s? 3p° 45' 4p° 34"
(C) 1s*>2s5®2p®3s%3p®4s?3d°

M) 1s*2s*2p°3s?3pf4s! 34
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112. The temperature increase, the reaction rate

(A)
(B)

e

D)

decrease than increase
decreases .
increases

stays the same "’

Qeutiud 2w Gurg elameanier Gausd

(A)
(B)
©
D)

G@DHE 2 WiTdng)
G@pdlng

2 wirdlmg|

IDTO® B)mESns

113. What does “ter molecular collision” refer to?

(A)
(B)

v

(D)

2 molecules colliding
4 molecules colliding
3 molecules colliding

1 molecule dissociating

“@ALT sy CTS®"” 6rensd a;m'_@ﬁg)gu’?

A)
(B)
(©)
D)

2 ppasammset Congalens
4 ppasammser Gongems
3 wassamsar Gorgeuams
1 ppavéamm HAeanseins

114. Kohlrausch's law can be expressed as

A A,=4,-2 B A4,=4.-4,
I A =d 4, D) A=Ay x4
Gamrireomav eldullen Fwerum(p
A A,=4,-4, B) A,=4-4,
©) [ A=A+4, | D) A, =2, x4
3 45
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115. Write the correct order of polarisability.
(A) Li<Be* >B* <C*
W Li'<Be’ <B*<C"
©) C¥<B*<Be™<Li*
(D) ©C*<B*™>Be™ <Li”

Cuneamysfel g ufer #flurer euflengenul 61(ps)s.
(4) Li<Be®>B™<C*
B) Li*<Be™ <B*<C*
(C) C"<B* <Be* <Li"
(D) C*<B*>Be* <Li*

116. What is the bong angle in methane?
(A) 107° - (B

104.5°

(©) 105° \Jr~ 109°28"

B5Csen eperdandle 2 arer enanTii| Gamamrid wimg)?
A 107 _ T (B)
(C) 105° D)

117. What is the shape of PCl;?
\#” Trigonal bipyramidal (B)
(C) Pyramidal (D)

PCl; e cuiqeutd ereimen?
A)  w&Garar @@ AnS@H (B)
©  9nop O

FACHE 46
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118.

119.

Factors governing the co-ordination number of a complex

1. size of the central atom

2. steric effect

3. energy of ionisation

4, electronegativity of the central atom

both (2) and (3) (B)

\gf both (1) and (2) D)

@emewra) cramenent Hliranruilég b sryanflaer

1. GOLDIL DGl GT LI(THLDGOT

2. u(mLoaner ellenerey

3. Sjwanfl &G HMED

4. - TOSLITET ST FETNLD

@ (@ wppi (3) (B)

©) (1) wpod (2) D)

both (1) and (3)
both (2) and (4)

(1) wpmid (3)
(2) wpgid (4)

Which of the following is the correct order of ligands of spectro chemical series in presence of

a particular metal ion?

V<

(B)
(©)
D)

Br~ <NO, <OH™ <H,0<NCS~
Br  >NO, >OH™ > H,0>NCS
Br” <NO; <NCS™ <OH™ <H,0

Br  <H,0 <NO, <OH™ <NCS"

Spsar_ Hnwree aflomsdao om @At eow 2 Coms well Qnsoturg sflura

Gaudlfimorene cuflens |

(A)  Br <NO, <OH  <H,0<NCS§~
(B) Br >NO, >0H >H,0>NCS"
(C) Br <NO, <NCS™ <OH <H,0
(D) Br <H,0<NO, <OH <NCS"

47
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‘120. In assigning R notation for D(+) Glyceraldehyde the priority is
(A) CHO>OH>CH,0OH>H
W OH>CHO>CH,0H>H
(C) H>CH,0H > CHO > OH

(D) OH>CHO>H>CH,0OH

D) Aeflerragmangar R siewiyss QFgierar QarEHsEnsE e WPEAWUG D

QarHssmb?

(A) CHO>OH >CH,OH >H
(B) OH>CHO>CH,OH>H
(C) H>CH,OH>CHO >OH

(D) OH>CHO>H>CH,OH

121.  Which of the following compound may exist as cis-trans isomers?

(A) 1 — Butene

\U” 2-Butene

(C) 1-Butanol
(D) 1- Butyric acid

Epssa Campmseid erg Sev grmearen wrHflugams QubHDméELD?
@  1- Gy e

B) 2- Gl udn

©) 1- Gyl e

D)y 1 - W ligH@ sibleon
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122. Vander Waal's constant for hydrogen chloride gas are a=3.67 atom litre2 and

b =40.8 ml mol-l. Find the critical temperature.

\W 51.7°C (B) 5.17°C

- (C) 0.517°C (D) 517K

aanL e GGerTeniiq e eumeTLiT eurded wrflel @ = 3.67 atom litre-2 opmid b = 40.8 1960 Cuome ™.
Hlenewry euliu flepawarws sarad(Hs.

(A) 51.7°C (B) 5.17°C

(C) 0.517°C D) 5.17K

123. If critical constant V, =0.057 litre/mol. Find Vander Waals constant ‘b’.

(A) 19 litre mol-! (B) 1.9 litre mol-!
&Y 0019 litre mol-! (D)  0.19 litre mol-!

BHlenewwmm wrdlell Vi, =0.057 &Sl Lir/Comed eresfled eumesri it eunéden wrhled ‘b’ sewméd (s
(A) 19 AL Guomre? B) 1.9l Gome!
(C)  0.019 A it Gomed! (D) 0.19 L it Gomer-!

.

124. [Equal volume of all gases at the same temperature and pressure contain the equal no. of

molecules is the statement of

(A) Combined gas law (B) Charle’s law
\‘pf Avagadro’s law (D) Bayle’s law

2Cr Qeuliu yssHlavauie o sar eTelerar aumyssalan ApsismpEeTar cramal&Eams NS

B m&E@L eremug)
A &l [ eumuy eild _ (B) erieev 694
©) @euGasrigreild (D)  umfeven edg]
o _ 49 FACHE

[Turn over



125. An eleetro chemical cell consists of ——— cells

\% two half cells ~ (B) two cells
(C) three cells (D) three half cells
WlenGeudl Lilengend ————————— g Csram. g
A) Qe ST swsns B) @rean®h swsms
C) epam svsms D)  epeiy T HOSDS

126. The difference between the observed voltage and the standard half -reaction voltage is
called the

(A) Emf

W over potential
(C) standard electrode potential
(D)  cell voltage

AL simrsse Wl (Ps55HDED 26TellLsamiqw e 2 WE555HDEGW 2 drer Caupur ———
eTam SeL&SUILHE DG

(A)  Emf

B) s Sler 2ipssd

(C)  dl e sipssd

(D)  Werse 2i(pssid

127. What is the condition for a molecule to be microwave active?
W The molecule should have a permanent dipole
(B) The molecule has a change in polarizability
(C) The molecule is paramagnetic

(D)  The molecule is diamagnetic

(M LPVETa ) ggaﬁ Semaeni Aar@LiLghseTer sryenf ereme?
A)  FAeawrar @mueamear Sy Snes Careamy HmESsa
B) waerey Qsrer Hmuy Hpen

‘ (C)  umpr sMHs LT

(D)  eLwranhg Ler
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128.

129.

130.

Find out (&, p) reaction from the following.
(A) PAr+iHe—>3Ca+!n

(B) jBe+j;He—C+pn

(C) iLi+jHe— !B4dr

W N+iHeo10+1H

Qevreupeuemeunmled (a, p) ellenamufenes 565“@61.1:].
(A)  j5Ar+3He— 5Ca+n

(B) {Be+,He— {*C+n

(©) iLi+$He— !'B+ir

D) ¥N+iHe-»10+!H

Hydrogen bombs are based on
(A) Spallation reaction
(B) Nuclear fission

W Nuclear fusion

(D)  Photo chemical reaction

@AM L_TEET S 2 (HEUTEE SHTTeRTLD
(A)  ue fpy fHwsey elenar

B)  s@ssm ety

©) gssmQoare

(D) galCoudl clenar

The energy released by the sun is the result of
(A)  Nuclear fission W Nuclear fusion
(C)  Photo synthesis (D) Radio activity

GAlwualledmhg QeafllLBb HDIEGES GTreRTd
A sigmssm Geriy B) <igmssm Qe
©) galsCsirsms (D) sdfuwsso

| 51 FACHE
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131. A molecule is said to be chiral
(A) - ifit has plane of symmetry
\W if it cannot be super imposed on its mirror image
(C) ifit has center of symmetry

(D) if it can be super imposed on its mirror image

&reoLo sa@renwPD ST Siamis GaramL Gamogdle

(A)  &reow sard @) mEED

(B) @zar ynQauafl gemwliyw, g Slou qm@éuefﬂ Sy Gup QummbSTE
©  @vussanbd maeb

D)  <sigar ynGeuafl eienwliyb, @iy 19bu YpQeuafl el Guomn Qurmbgibd

132.  Which of the following compounds will be optically active?
(A)  Acetic acid
(B)  Succinic acid

W Lactic acid

(D) Meso-tartaric acid

Spaea_ Camomsaien org) gafl HLRHMID Semaw e wig)?
A) 2flyssden |

(B) ssdlafls e

(C) orsué sfleb

(D) BCsrLrrLrfé flen
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133.

134.

135.

Ksp of CuCl is

W 19x107 “(B) 1.8x107

©€) 1.7x107 (D) 1.6x 107

CuClew Ksp erermuig
A)  19x107 (B) 1.8x 107

© 17x107" (D) 1.6x 107

Decomposition of H,0, is a reaction of?

(A)  Zero order @f First order
(C) Second order (D) Third order

amanL_rger QuiLdEams® HageuenLu|b eflener eramuig
A) ysHw s ' (B) s euens

(C) @newrLmb euens (D)  epemmb cuens

Detector used in UV — spectrometer 1is,

M Photomultiplier Tube

(B) Thermistor
(C) Golay cell
(D) Bolometer

UV - fipwrene wrefludier Liwemu(Bib ser(Hidlg.Lume erg)?
A)  Cum GLm weiglienamuim @GLpmi

(B) Qgmblavi

(C) GCarGe Gaw

D) GCu rr(%sm_r 1

53
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136. A system absorbs 100 kJ heat and performs 50 kdJ work on the surroundings. The increase

in internal energy of the system is

W 50kJ

(©)

600 Cal

(B) 1200 Cal
(D) 0Cal

@ 2wy 100 kd Gaiiugens ar@gs 50 kd Coumaanw sppiiiynsder Bg Qaiismd sigan <5

DD SFaML
(A) 50kJ (B) 1200 Cal
(C) 600 Cal (D) 0Cal
137. First law of thermodynamics is denoted as
(A) AE=W i AE=q-W
(C) AE+q=W D) AE-W=gq
.%aé @Dl&Esemid.

wpgembd Geutiu Quissefliwe adfew

(A)
©)

AE =W
AE +q=W

B) AE=q-W

D) AE-W=gq

138. The standard heat of formation of all elements is assumed to be

W zero

(B)
(©)
(D)

negative
positive
infinity

DAmaES AUT(HETEERHGLD Flanawimer 2 (Haurge Geuliuib

(A)
(B)
©)
D)

FACHE

Legeflud

erdlim iy

Crm iy
pigefléam i
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139. What is the shift reagent used in NMR?
(A) a-alumina
(B) CH,0OH
(C) TMS
M Organic lanthanide complexes

ke N e -

2 L &(h SMHhS &HSenaa| h&Te| 2 LGTam 6rg)?

(C) TMS
(D) emgamer® &l srblerden

140. What is the relation between frequency and wavelength of an electrémagnetic radiation?

QW r=Cli B) y=CxAi
€ y=C+i D) 7=C-A4

9i$ 16 eradr LHMID e bersHn @ 2 erer Qg m_ii| eremes?
A y=C/a B) yr=CxA
© yr=C+i M) y=C-2

141. Drug which is used to reduce body temperature to normal value is
W Antipyretics (B) Antibiotics
(C) Antiseptic (D) Analgesics

2 1e Geuliuplenavans sngryen euliLiblenas@s @GamaE b GummeT ereueumm iepdsiiuBHEmng)?
(A) &y Hleuryenl (B) eadiiy syenf
(€C) yeysHuumen (D). euedl Hloumyenfl

o 55 FACHE
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142. Radio activity of elements is due to
(A)  Stable electronic configuration

(B) Stable nucleus

(C)  Unstable electronic configuration

W Unstable nucleus

&Sl Tel&a&EE T STTesTLD

(A)  fleowss ereslgrer ey

B) feowss o am

©) feaiysgerawupn cradb_Frer el

(D) fleneliygsenenowdm 2 L&

143. . Al*" is irradiated with ———— particle to give ,,Si* and a proton.
(A) p — particle W a —particle
(C) Protons (D) Neutrons

13A1" e U smavaus smédl 1,Si% 2 s wHmid LG L Tenas S[HD STHGID Ss6T
A) p-gsar B) a-gser
(C) yCpmiimen D) By gren

3 f
144. - What happens to ionic radii of Actinides with increase in positive charge of the nucleus

(A) Increases \,ﬂ’ Decreases
(C) No change (D) Irregular change

slqman(h yassatan Crr swefl sflafls@b Curg swell rsdléd gHu@b wrHpd
@ ofsadng B) eopfipy

©) wrHpBaama D) @epwpp LIHHD
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145.

146.

147.

The H — C — C bond angle in ethane is
(A 90° _ (B) 115.5°

M 109.5° (D) 118° 28

rsCaafiguarer H — C — C e Camenr jene eretren?
A) 90° (B) 115.5°
(C) 109.5° - (D) 118°28

What is the shape of BCl,?

(A)  Tetrahedral | P Trigonal
(C) Planar (D) Linear
BCl; e auigeuid

A)  prenapd B) @&Csmentd
(©) - swsend | D) CrisCs®

Homolytic fission of C — C bond leads to the formation of

\M Free radicals

(B) Carbanions
(C) Carbonium ions

(D) Two molecules

C - C Yenewriiy Fymrem Weriume Gerd@ b Cung) Heniuemeu
(A)  sall emuiyser

B) smCueturersar

(C) smCureflwub wefser

(D) Grar® epedammiser

b7

FACHE
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148. - On moving from left to right in a period
W metallic character decreases
(B) non metallic character decreases
(C)  basic character increases

(D)  number of electron decreases

e Qsrifled @LImhg ciawns Geogb Gurg
(A) 2Carss ganemn GonEDS)

B) oCarss s Gmnsng

(©) &5 seameno an@é]ﬁ;g

(D) s gren cramaniisams @Ganang)

149. The scheme of hybridization in the tetrahedral complex

(A)  dsp®
(B) d’sp?
(C) sp?

em Boarays Gsiwbd QULgrdllgd ageudglLen GHsGLramd S Qmésssnnu soUear

s
(A)  dsp®
(B)  d’sp’
(€)  sp’
(D)  sp’
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150. Based on the collision model, the atoms at the top of the “potential energy” hill are called
(A)  Top of the hill |

(B) Activation energy

\(9), Transition state

(D)  Steric factor

Curge wrdfleow SiyliumLwrs Carar(® amssailar Hlaowrar “oybnelear 2 wrs @eSleow”
SienipLiLIg)

(A) CGuéwlL el

(B)  fleriey Qarer opmme

(C)  wrmblene

D)  ewGELM& amyen

151. Which of the following is does not affect the rate of chemical reaction?

\M enthalpy of the reaction

(B)  concentration of the reactants
(C) temperature

(D)  surface area

Wemeumeuaneuphlen erg) Ceudlallenamuien Gaussams s HLILINSS G @erena?
(A) e ellemanier erangmeldl

(B) e&leveru®m Gummafler GQamley

(C) Gaudubd

D)  ypouriy

3 59 . FACHE
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152. Which element has the largest atomic radius?
A) F B) S

(C) Na | 7’ Rb

Ths saflob iHs a@}j <UD 2 enLuig)?
@A) F ®B) S
(©) Na (D) Rb

153. Which element has the smallest radius?
(A) Ca (B) Ga

(C) Ge W Se

aTbG Safliod GDHS 27D GsTenr g ?
(A) Ca (B) Ga
(C) Ge (D) Se

154. What is the outer electronic configuration of VI A gp elements?

(A)  ns’np® - \M ns’np*

(C)  ns’np? (D) nsnp*
VI A Qgredulg)erer gafliomsaflean HmL_§ pHmed TS TTE SHenLLIL GTese?

(A)  ns’np® (B) ns’np?

(C) ns®np? - (D) ns’np*

FACHE ' 60



155.

156.

157.

Which of the following is not a neutral ligand?

H,0 (B) NH,

(A)
W cH, M) NO

Spasa@aupmier erg Blul e elaran’ @aama?
(A) - H,0 (B) NH,
(C) CH, ' (D) NO

Among the following which has no preference either for octahedral or tetrahedral geometry.
(A)  d*-ions
(B) d°-ions

@ high spin d°

(D) low spin d®

Epsam eresgren sewlysaie aphs semwldhe Oh or Td eagegdperar wpergyflenio

&r_(Heudlveana.
(A) d’ - oywef
B) d°-wef

(C) =85 spné o érer d’
(D)  EonbHs HPHE 2 drer d®

The EAN of [Ni(NH,),]S0O, is the atomic no. of the inert gas.

@A) Xe P Kr

(C) Rn (D) Ar

[Ni(NH,),1S0, erenp Csiwgder Ni @Qm&@ED eradgrem rhs hs eursdsaies @) maeLd
ETQOSL_[TENSH(EHE S FLOLD

A) Xe B) Kr

(C)  Rn (D) Ar

61 - FACHE
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158. -Waldeﬁ inversion gives a compound with
(A) retention of configuration
\M inversion of configuration
(C) racemic minture

(D) meso compound

aurebLeir UL seller SenL @b Caogdle
(A) ynQaefl ey élUqu_GuJ @ m&@D
B)  ymQeuafl Giemwiiy wTMID

(C)  sflomi Gamwoib HevL_&E b

(D)  BCer Gairoib HenL_&@Ld

159. R configuration refers to which direction
(A) Left

W Right
(C) Both left and right
(D) Not left and right

R ypQeuafl gemwiiy arhs Sewsmws @Hé&Hnsg -

@A) Qv

(B) aas
©  GLs LMD awg @raT@n

D) Qs wHmbd g Qome
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160. Which of the following is the correct mathematical relation for Charle’s law at constant

pressure?
\g{ VT B) Vet
(C) V=Kt (D) None of these

LIDT H(PSF5H0 Spsaent org) smiaev ellgluler sflwimear Qgm_imy?
(A) VT B) Vet
(C) V =Kt (D) ergiayicrena

161. Which is the Root Mean Square velocity (RMS)?

_ [3RT 7. [8RT
N > B V==

© V,= 1’% (D) None of these
erg) RMS flensCausid
3RT — |8RT
A =] . B) V= ) —
A  u \’ 7 (B) ]J 7
©) Vip = 1‘-@ (D) egebléaene
M
162. The SI unit of Vander Waals constant ‘b’ 1s
(A) Nm®mol? \.ﬂr m® mol ™
(© m®mol™® : (D) m*mol!

cumeRTLiT aureven il b—er SI e g
(A) Nm*mol™ (B) m®mol™!

(C) m®mol™ : (D) m*mol™

e 63 FACHE
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163. The ionic prc;:duct of water is

(A)

1x1077 ' (B) 1x107%

\M 1x107M D) 1x10"

Bifler owellsdr QuBESD
(A) 1x107 (B) 1x107'°
(C) 1x10™ D) 1x 10

164. The net chemical change obtained by adding the two half reaction is called the
_ \M Cell reaction (B) Cell potential

(©)

Cell voltage (D) Standard cell

Qe ey eleanaman s (Hib Gung flanLs@b Caulefaan wrHpsdbe QUi

A)
(©)

Wlestae elenest (B) WOense SI(PSHHLD

lerae Wleeuad ojeray (D) Sl Banseb

165. In potentiometric titration, a suitable electrode immersed in the solution to be titrated act

as
\y Indicator

©)
(D)

Standard electrode
Reference electrode

Glass electrode

Qum_LenflGur QL fs gro Gfiggadarn smriunaid s@bs Waeuramwu phsgs@n Curs sEHs

Wlereum ——————— 8 utisafl&Sn gy
(A  Horsrigsdr |

B) HlBemeumi

©) . emal_vul L Bemeumii

D)

FACHE
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166. Antipsychotic drugs are termed as
(A)  Anesthetics

(B)  Analgesic

\@f Tranquilizers

(D)  Antipyretic

LO&T (S Hleuryenfl m@{_’r@mﬁm GTEUGUT AENLPESHEMD?
(A LWES WWHSEET

B)  audl fleurganfiser

©C) vyl ygseer

(D) &y feurpenflser

167. In modern periodic table, the horizontal rows are called as

W Periods (B) Groups
(C)  Classes | (D) Family

U Speurgsen oL auamenruie, HlenLol L aiflensser

(A)  Qsrisar B) Ggrgdser

(C) euemssgar D) EHLuD

H

168. ~ Which element has higher ionization potential?

@ K N\ Ne

(€) Na. (D) Li

Gl"li'aﬁé. sl 2Fls sweallursgd o,hne Qsmemg)?
@A) K ' (B) Ne
(C) Na (D) ILa

GTEN BIENLPESLUILI(HILD.
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169.

170.

Which of the following is used to detect S*~?
(A)  sodium sulphide
(B)  sodium hydroxide

(C)  sodium carbonate

\,EE( sodium nitroprusside

S?° enweallsmen sarrLdlu LweLHD elenaerGQurmar
(A)  Cemquib seoenu(®

(B) Gamguwib enanl_gréengH

(C) Cemgquib srruCar

(D) Gsmgwwb enplCrmymens(

The reagent used to separate Fe(OH), from Al(OH), and Cr(OH),
(A) SnCl, (B) Na,S

7 H0, (D) H,C,0,

171,

Fe(OH), eww Al(OH); wpmid Cr(OH),; e @ mpgl Gflés uweruBb smyemf
(A) SnCl, (B) - Na,S
(C) H,0, (D) H,C,0,

Which of the following can be used in potentiometric titration for estimating Fe* ?

W Ce B) H,C,0,

(C) Mn™ (D) Fe*

Spsar_aupper Qum_LardlCwrQulfé e Gyser aped Fe?* fiemliiugpeE LwemuBoug) 61g)?
(A) Ce'™ B) H,C,0,

(C) * Mn™ (D) Fe*
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172. If the unit of rate constant is lit mol-! sec-! the order of the reaction will be

A 0 B) 1

W 2 D) 3

@ dloauia efamaGas wrhalular <iwe @it Gora! aflbrg ! eam QEHBSTS DHS

aflenemrufen cuens
A o0 B) 1
o 2 (D) 3

173. The transition state theory was developed by
(A) Lindeman’s

\G){ Henry Erying

(C)  Arrhenius
(D) Ostwald

“wrhniflae QaErdmasamu” o (Heursdleur
(A)  eSletor_Guoen

(B) Gamendl Cuifludim

(C) simabafilue

D) peveuma

174. Choose the correct relation when the temperature coefficient is zero
W uoFE=-AH (B) nFE=AH
(C) nFE>-AH 4 () nFE<-AH

Geautiu Gamsid Ygwiors @mé@n GCurg sflwrear 2 paas Coimbels .
(A) nFE=-AH _ (B) nFE=AH
(C) nFE>-AH ' (D) nFE<-AH
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175. A system can transfer neither matter nor energy to and from its surroundings is called

(A) aclosed system

\M an isolated system

(C) an open system

(D) a homogeneous systenﬁ

2@ @iy Qureaatur yhpeetur sHpLUNESDE aprEasb Gdma Csr@uugb
Boma 2AsHG

(A)  epgw el

(B) sallewiu@ssiul L oemmoliy

©)  Hmps @wUL

D) &Gy memwiy

176. Which is not an intensive property?
(A) Pressure (B) Density
(C) Concentration \M Volume

T 2 ETaTTIHS LUy @Qeena?
(A)  SupssDd (B)  <onigdl
©) eiey D) sear ey

177. The enthalphy chahge (AH) of a process is given by the relation
(A) AH=AE +PAV : B) AH=AE+W
& AH=AE+AnRT (D) All of these

2HMe rHDb gHumHD HFuaapanamis @hléEn Cgm i
(A) AH=AE+PAV (B) AH=AE+W
(C) AH=AE +AnRT (D) <i@assd
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178. What type of lamp is used in UV-Visible spectrometer?
(A) Sodium vapour lamp

\(Pf Tungsten filament lamp
(C)  Dueterium lamp

(D) Hollow cathode lamp

yp eargrasdT fipwreaawreaflulier LweruBsgib eNerss og?
(A)  Gemguwid e elarse

B)  LmevL e e @anp eflerés

©) Gefwb erée

(D) CeanCar CasCsm(H eflarde

179. How many signals are obtained in NMR for ethanol molecule?

W 3 B) 2

@€ 1 (D-) 6

NMR flpwreaude, erdsammed apassandE aégman Wpe(H a6 &L dELh?
A 3 B) 2
€ 1 (D) 6

180. What is the basic measurement in mass spectrum?

Vb mle | (B) m®le

© elm | D) e*/m
- e fimwrenaudler gL Fwetun(h) eTenen?

(A  mle (B) m®/e

(C) elm (D) .ez I'm
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181. The fertilizer essential for the growth of tobacco is
(A)  Super phosphate of Lime
(B) Urea

W KNO,

(D)  (NH,),SO,

yensuilened Qe uller cueatadlé@ 2 sa b 2 g
A) @uururevCul sererTmibL

®  whun

(©)  GQumrirflw ep Cp (KNO;)

D) <wCwreaflwb s0Cul (NH,),SO,

182. The essential elements required for plant growth

(A) N,HO (B)

(C) Ca,Ba,Sr N

sreurisetien euemi&SlsE s e res Seitlomisar
4 N, H,O0 (B)
(C) Ca,Ba,Sr (D)

183. Pick out the fertilizer from the following
(A) CuSO, (B)

(C)  PbSO, >

Glemeumeueaum el (mba) 2 rHass samHidly.
(A) CuSO, (B)
(C)  PbSO, D)
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134.

185.

186.

The stability of free radicals are due to the presence of

(A)  steric effect and resonance effects

\M resonance and hyper conjugation effects

(C) inductive and steric effects

(D)  inductive and hyper conjugation effects

Spasar_cunha g gafl 2 muyser flaneliL SeTenoa L Qum;ﬁ]@éﬁmgl’?

(A)  Qarerafl_ib wHmb 2 Laflensey ellenereysar
(B) eLafllemse; wpmyb fur eleaiiy eflaere|ser
(C) gram_e whmb QAareraflL eflenenaygsar

(D)  gnerLed wHmb SFLF eSenanriil] eflenereseT

What is bond angle of sp? hybrid orbital?

(A)  120° _ & 109.5°

(C) 180° (D) 160°

sp’ @endsaliy 2 Lreller Gepanriiy Camartid org)?
(A 120° (B) 109.5°
©) 180° - D) 160°

Compound in which carbon uses Sp® hybrid orbital for bond formation is

(A) HCOOH ®) HC=N

(C) HCOH \J’ CH,CI

aps Camogded, smiuar Sp* @erdsaliy @Al Lo Lwearu(ss Wamamiy o hardng?

(A) HCOOH B) HC=N

(C) HCOH (D) CH,CI

71
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- 187. As per Aufbau principle, the energies of 3p, 3d, 4s, 4p orbita‘ls are
(A) 3p<3d<4s<dp
M . 3p<4s<3d<4p
(C) 3d<3p<4s<4p

(D) 3d<3p<4p<4s

Do LILUT HFGleUGE 6 Lig. 3p, 3d, 48, 4p @A Lmevasefien Spen (eraniad)
(A) 3p<3d<ds<dp
(B) 3p<4s<3d<4p
(C) 3d<3p<4s<dp

(D) 3d<3p<4p<d4s

188. The effective nuclear charge Z* =
(When Z is actual nuclear charge S is screening constant)

(A) Z+8S B) S-Z

'W Z—3 D) S-2Z

Bl&y iemi&amé senw Z* =

(Z — sigmsamesetian sfluns ojeme| .

S — enpse i)

A Z+8 (B) S-Z

C Z-s D) S-27
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189.

Which energy is calculated by Arrehenius equation?

_ W Activation energy

190.

(B)
©

(D)

Kinetic energy
Potential energy

Translational energy

2ifradeafl ey Fwerum g6 Uiy 6ThHS 2D sarsAL UL ng

(A)
(B)
(©)
(D)

Sleriey@amar 2mma
Qués DHmed
26T pDDED

TMILILC L D,HDHED

Which among the following follows second under kinetics?

(A)
(B)

(©)

N,0; — 2NO, +1/2 O,
H,0,—® 3»H.0+0

CH,COOC,H;, + H,0—CH,COOH + C,H, - OH

J# CH,CO0 C,H; + NaOH - CH,COONa + C,H,0H

Wemeu(mid Goud) eflmangafich erhg eflaner @rar_mb euans eflenaruilwells @ o Mwg

(A)
(B)

(€)
D)

N,O; —» 2NO, +1/2 O,
B B SO -
CH,COO0C,H; + H,0—" 5 CH,COOH + C,H; - OH

CH,COO C,H; + NaOH —» CH,COONa + C,H.OH
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191.  Which is the shortest period and what are the elements present in it?
(A)  First, H and Ne
(B) Third, Ne and Ar
\@’ First, Hand He
(D)  Third, H and He

Waeayb Gndu Qarii erg? i 2 drer saflomigser ereneu?
A) g Qgrom, H wpmb Ne

(B) epearpmd Qgr, Ne wpmib Ar

C) s @srm, H wpmib He

(D)  epemmmbd Qgroi, H wpmid He

192. Which of the following ions is not isoelectronic with a noble gas?

a) Mg* | (B) Ba*

7 Se (D) Cs*

Sipése_euhnier eThs Siwell whg eurujedfer s Ten eLUCUTH @555Ms Gdene?
(A)  Mg*™ | (B) Ba™
(€ Se | D) Cs*

193. Which one of the following pairs contains isoelectronic species?

(A) Na, Na* \#’ Na*, 0>
(C) S, Se - (D) S*,8e*

EDEEETLUNMIET eTEe S CTREL_TTET Si@LImLE Qaar Heatarar?

(A) Na,Na’ - (B) Na',0*
(C) S, Se (D) -S*, Se*
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194. According to Werner'’s theory the primary valencies
(A) Not ionisable
(B) Fixed number

(C)  Satisfied by neural groups

M Satisfied by counter ions of complex

Qeurrerrflen QamerensiiLly (psemenod Gleneardlmet
A) swellwurang

B) @HNOECL e

(C) swvflee swelsamd sA@alwiiu®pg

(D)  omaras Corwgdar swalleow Hopeyndng

195. Which of the following is correct according to Werner’s theory of complexes?
(A)  The primary valencies are filled by non ionisable groups
(B) ' The Secondary valencies are satisfied by ionisable groups
M The position of secondary valencies are fixed in space

(D)  The positions of secondary valencies are ambigus

Spaar_eupger Qeautenfler Camlun@safler @ram mb cums GaarSpansear LDHHIL sabisEHeT
erg) gflwirerng,) ?

A) s Hlaa G eamaer aumﬂ-u_ms (Plg LITS S MISETTED Byiutiu@dns

(B)  Guawmmb flenay Glenammae julawtlLnssalq L So)EATTE ,f;]r;t]uﬂu@eﬁgﬁg,l

(C)  @uawrmb Hlene Gamanaaflear Hanssar @GOG LU Lo

D) @Grarimd flaw Gaansafear Hasadr @pluoTaeme
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196. How many signals are obtained for cyclobutane in NMR spectra?

@ 3 W 1

©€) 2 | | D) 4

NMR - fipwreraude eusnerw GGl erdgamer erdamssaer Qampé@Lh?
Aa) 3 .B) 1

€ 2 (D) 4

197.  Which unit is used to measure magnetic field strength?

W Tesla . (B) Newton
(C) Pascal (D) Atmosphere

&THS Ljes Fmenar 2jerell LwaTU{HLD e E 6T8?
(A)  QLeveor (B) . AluylLan

(C) LITE&en (D) ey CumevGwir

198. How many NMR signal is obtained for CH;OCH, molecule?

W 1 B) 2

© 3 (D) 4

CH,OCH; gpavésmm arspemar NMR (pas@samen () aemssmer Qam®ao@in?
A 1 B) 2

C) 3 - (D) 4
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199. Penicillium glaucum is used to separate

(A)  Lactic acid

W Tartaric acid

(C)  Acetic acid

(D) Propionic acid

aTpg sillwgsms WALLSHE Gueandleiiun @Epésd I_IILIG'UTI; CEINES
(A) - emgd Sjleid

(B) Lmrmfls epudlen

C) <fl s sflab

D) yriuemis <o

200.. On reduction, pyruvic acid gives

(A)  Acetic acid

¥ Lacticacid

(C) Tartaric acid

(D)  Propionic acid

@Lhels blwsms héEGausTe fanLLug
(A)  flligs sl

B) omngs blend

(C) Lrrnfs sblew

D) yGCymuGureflds bled
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